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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Answers may be written either in English or Hindi; but the same medium should

be used throughout the paper.
3. Attempt all questions.
4. All questions carry equal marks.

5. Use of simple calculator allowed.
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(o Wl (ool of management,” Comment. (10)

ppulsh he o
) Pl waen cost nccounting and management accounting. (5)

Oon

pAre N Co 4 g v { ¢ p
() Preptt WEwheet of the following data relating to the manufacture of

Jeans. 7
Number of Jeans manufactured during the month 1.000
Direct materials consumed 20,000
Direct labour 8,000
[ Indirect labour (in factory) 2.500
Supervision costs (in factory) 1,000
Factory premises rent : , 1,600
Factory lighting 600
Oil for machines 100
Depreciation of machines 500
Office overheads 8,000
Misc. office expenses 2,000
Office salaries 1,000
Selling and distribution overheads 6,000

Note : A profit margin of 20% on the total cost of goods is expected on the
sale of Jeans.

(®) Write short notes on any four :— (2x4=8)

(i) Cost Centre
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2. (a)
(b)
(2)
(b)

(ii) Imputed Cost
(iiiy Out-of-pocket Cost
(iv) Sunk Cost

(v) Differential Cost

ods of

Distinguish between time-keeping and time-booking, f: xplain the meth
(8)

time-keeping.

What is meant by under-absorption and over-absorption of overheads? How

arc under and over-absorbed overheads treated in cost accounts? (7)
OR

XYZ Co. requires 1,500 units of a material per month, each costing Rs. 27.
Cost per order is Rs. 150 and the inventory carrying charges work out to
20% of the average inventory. Find out the Economic Order Quantity (EOQ)
and the number of orders per year. 3)

From the following information prepare Store Ledger Account as per LIFO

and FIFO: (12)
Jan. 1,2020 Received 1,000 units (@, Re. 1 per unit
Jan. 10, 2020 Received 260 units (@, 1.05 per unit
Jan. 20, 2020 Issued 700 units
Jan. 21,2020 Received 400 units (@, 1.15 per unit
Jan, 22,2020 | Received 300 units (@ 1.25 per unit
Jan, 23, 2020 Issued 620 units
Jan. 24, 2020 Issued 240 units ]
Jan. 25, 2020 Received 500 units (@, 1.10 per unit
Jan. 26, 2020 Issued 380 units

FT.0.
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S @ Distinguish bety ey allocation and apportionment of overheads. Also mention
the basis ofapportionment o [ expenses. (7

(& The following data were obtained from the books of Glaxo Company for the

halt-year ended 30 September, 2020. Prepare an overhead distribution

summary (3)
Production Departments Service Departments
A B C X bd
Direct wages | Rs. 7000 | 6000 5000 1000 1000
Direct materials | Rs. 3000 2500 2000 1500 1000
Employees Nos. 200 150 150 50 50
Electricity Kwh. 8000 [ 6000 6000 2000 3000
Light points Nos. 10 15 i 5 3
Assets values Rs. 50000 | 30000 20000 10000 10000
Area occupied | Sq. yds. 800 600 600 200 200

The expenses for 6 months were :

Stores overheads 400 Depreciation 6000
Motive power 1500 Repairs and maintenance 12000
Electric Lighting 200 General overheads 10000
Labour welfare 3000 Rent and taxes 600

Apportion the expenses of Department X in the ratio of 4: 3: 3 and that of
department Y in proportion to direct wages, to department A. B and C

respectively.
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OR

ard Radio

(7)

(a) The following direct costs were incurred on Job No, 415 of Stand

Company.

Materials Rs. 4010

Wages:

Dept.

A =60 hours @ Rs. 3 per hr,
B =40 hours @ Rs. 2 per hr.
C =20 hours @ Rs. 5 per hr,

Overhead expenses for these three departments were estimated as follows :

Variable overheads:
Dept. A Rs. 5,000 for 5,000 Labour hours
B Rs. 3.000 fox 1,500 labour hours

C Rs. 2,000 fox 500 labour hours

Fixed overheads:

Estimated at 20,000 for 10,000 normal working hours.

You are required to calculate the cost of Job 415 and calculate the price to
give profit of 25% on selling price.

(b) A factory produces a standard product, The following information jg given
to you from which you are required to prepare “Cost Sheet” for the period

ended 31st March, 2020 ;
8)

PToO.
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(a)

0

imable
Const ¢ magerinls:

Opening stock

10000

Purchqgeg

#5000

m
Closing Siock

4000

Direct Wages

20000

A
Other direct expenses

10000

e mm—— e
Factory overheads

100% of the direct labour

A
Office overheadg

10% of the works cost

Selling and distribution expenses

Rs. 2 per unit sold

“Units of finisheq product:

In hand at the beginning of the period

Units 1000 (value Rs. 16000)

Produced during the period

10000 Units

In hand at the end of the period

2000 Units

Also, find out the selling price per unit on the basis that profit mark-up is

uniformly made to yield a profit of 20% of the selling price. There was no

work-in-progress either at the beginning or at the end of the period.

The BBA Construction Company undertakes large contracts. The following
particulars relate to contract No. 125 caned out during the year ended on
31st March, 2021. (10)
Work certified by architect 143000 | Wages accrued on 31st March 2021 1800
Cost of work not certified 3400 | Direct Expenditure 2400
m 11300 | Materials on hand on 31st March 2020 1400
WMach 2021 8200 | Materials returned to store 400
Material sent {0 site 64500 13);;?01:4 :*rcg:l:r;c(lgt;re accrued on 200
W 54800 | Contract price 200000
Estbiishment charge 3250 | Cash received from contractee 130000

——
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(b)

(a)

(b)

7

. , : ind
Prepare n Contract Account for the period ending 3y, March 2017 and 'f' '
out the profit. It was decided to transfer 2/3 0F the o mv on cash basis
Profit and Loss Account,

Write short notes on -
(1) Escalation Clause

(i) Cost-plus contract (2-5’<2=5)
OR
A product passes through three distinct processes to completion: These

processes are numbered respectively, A, B and C, Dyring the week ende‘d
31 January 2022, 1,000 units are produced. The following information 18

obtained : . (12)

| Process A Process B Process C
Materials 36,000 ¥3,000 o %2,000
Labour %5,000 34,000 %5,000
Direct expenses 1,000 3200 31,000

The indirect expenses for the period were 2,800, apportioned to the processes
on the basis of labour cost.

Prepare process accounts showing total cost and cost per unit.

Define normal loss, abnormal loss and abnormal gain. 3)

ABC company makes plastic toys. An analysis of their accounting
reveals :

(15)
Fixed Cost: 50000
Variable Cost: 3100 per unit
Selling Price: 3200 per unit
Sales: 1000 units

P.TO.
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() BEP
(i) M5

(i) What wijgy .
R,G, ’5“()“(’?

the amount of sales if it is desired to earn a profit of

(iv) What will pe the profit when sales P.s, 3000007

) BEPif selling price per unit increased by 20%
OR

Union Transport Company supplies the following detzils in respect of 2 truck

of 5-tonne capacity (15)
Cost of truck Z 999090

Estimated life 10 years

Diesel, oil, grease 2 15 per trip each way

Repairs and maintenance Z 500 per month

Cleaner's wages Z 250 per month

Driver's wages 2 500 per month

Insurance 24,800 per year

Tax 22,400 per year

General supervision charges 24,800 per year

The truck carries goods to and from city covering a distance of 50 miles

cach way,

While going to the city, freight is available to the extent of full capacity and

on return 20% of capacity.
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Assuming that the truck run on an average 25 day, a month; work out—
(i) Operating cost per tonne-mile, and

(ii) Rate per trip that the company should charge if profit of 50% on
freightage is to be carned.

1 (=) 9 dEET wm e AR SR TR IR 9y aren AT ‘e

NE(H FEEUT H UH SEF IR T T R frophy FIRTT (10)
(w)mmaﬂzmm%mmm. (5)
Jreran |

(@) vre & el ¥ 4Ehe PRl 30 @ wE fie dar @k (7)

g % groe A s $ =1 1,000
JeqET qTHRT & @9a 20,000
T AT 8,000
AT qH (FTLETH H) 2,500
THARTOT AT (FTCETH H) 1,000
FTCETH o qrE FT AT 1,600
FTETT T fArett Jereft sgaedr 600
wofit ¥ P et 100
AT T Teag™ 500
FTATTT AR 8,000
faferer satery = 2,000
FTATAT FT FaT 1,000
farfY o faeor Arataee 6,000 |

Ao W A R W oAE W g wEw w 20% T MR spfg 3,

PTo.
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L

1 &, 2020 TH 1,003 e |@% 19 gHe
10 ST, 2020 A 260 g @ 1.05 Wi gHe
20 ST, 2020 T 700 T
21 ST, 2020 ITH 400 TFAE @ 1.15 9t gfAe
22 wad, 2020 | TH 3007 | @125 9 g
3o, 2020 | oM 620 qfE
24 s, 2020 AT 240 TME
W o so0gfe | @ L1ovwfR gfRe
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(12)
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T e | ® 7000 | 6000 [ 5000 1000 | 1000
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FHATL . 200 150 150 50 50
IEEEI &rar 8000 [ 6000 6000 | 2000 3000
RS F @iRe | §. 10 15 15 5 5
riey =T T | = 50000 | 30000 | 20000| 10000 | 10000
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(7)
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